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o 025 fir 8 3l 5 2 a8 ek B | TCLP_ 4% | TCLP_ 4248 [ TCLP_#4a4% | TCLP_#a4% | TCLP 1% | TCLP_4848 | TCLP_4 5k
- R (%) (%) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L)
JEE(LEE) 111.03.01 1.59 0.06 ND 0.759 0.053 0.305 0.05 2.50 ND
FEFEREMRCLE - - 5 100 1 5 2.5 15 0.2
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(mg/L) (mg/L) (mg/L) (%) (%) (%) (%) (%)
JEE(15E4E) 111.03.01 [<0.050(0.0221)]12.15(24.7°C) ND 4.01 12.5 4.80 377 1.30 590
HEFLBEMRTZE 5 " 1 s - _ _ _ _
(%) (mg/kg) | (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg)
J& B (135 4E) 111.03.01 3.75 <0.200 <20.0 304 1300 204 2430 265 12.6
A | O lwaraeon| kR
BE 8| Eh A3 28] 3 #3 HE izl
; ’
(mgrkg) | (kg/m’) | 1pcyey (%)
JEE(LSENE) 111.03.01 ND 1800 0.019 2.9
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8 ]2k 4 & 8 B 4 £.88 g ER | TCLP #a%y |TCLP #4848 |TCLP #24% | TCLP #84% |TCLP »<{§4% | TCLP #4945 | TCLP #ask
' (%) (%) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L)
T A (15508) 111.03.01] 8.89 0.09 ND 0787  |<0.03000115)  4.53 4.18 ND ND
ROE 4 (158 05) | 111.03.01] 423 6.24 |<0.10000.0357) 0.418 18.6 0.081 <0.08 39.3 0.154
RAESEBEHNTER - - 5 100 1 5 75 15 0.2
B R A woa gy | CLP sy |TCLP fas|TCLP 43| K% Baw | —fitw |Zalt—4s| =fi—um
(mg/L) (mg/L) (mg/L) (%) (%) (%o) (Y0) (%)
e (13505) 111.03.01 ND 9.72(24.7°C)| <0.100(0.0422) 0.076 5.98 1.52 11.8 1.16 2.53
BOE A (188 )| 111.03.01 18.9 9.67(24.7°C) ND 415 0.69 9.81 5.21 0.20 0.22
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B 5| 25 4 58] B 19 A1L45 48R 4o A 44 44 4 ICE =S 4847 44 48 455
(%) (mg/kg) | (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) | (mg/ke)
e (13E4E) | 111.03.01]  4.98 0.675 23.8 388 727 254 7530 233 69.6
RE A S (13E4s) ] 111.03.01  2.43 4.89 27.3 3370 1170 51.9 22900 244 408
AR FaEH L Book o
5 R B B 8 # = g1
(mg/kg) (kg/ 1113) TEQ/g)
Fefe (13808 111.03.01 ND 1008 0.267
B A S (1355)] 111.03.01 ND 573 0.532
REELBEMI TR = - 1




